
l January 23, 2018

Pick up the Warm Up 
do the Front SIDE Only

If you were absent last class :
You already checked my blog so you 
know that we had an Exit Ticket the last class.
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Show how to find the y-axis intercept AND x-axis intercept(s) algebraically 
of the following function. when you are done, you can check with your calculator.

Show how to find the x- and y-axis intercepts algebraically. 

When done you can check with your calculator.
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One has to be careful when factoring quadratic trinomials into two binomials when there 
is a common factor.   In fact, the box method doesn't quite work the same if you do 
not factor out the greatest common factor first. 

Factor:     12x2   +   22x   +   6

Factor:     12x2   +   22x   +   6



l January 23, 2018

Factor:     12x2   +   22x   +   6
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Goals and tomorrow

(2 day investigation)

Optimize the design of an Open Top Box

Maximize the 
Volume of a Box

Demo of an 

Open Top Box

being constructed
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Start from a flat rectangular piece of metal.
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What should the height of the finished box be in 
order to maximize the volume ????
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Purple

White

Cream

Blue

Brown

Light Pink

Dark Pink
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60ac, 61, 64-65, 69

61   (Make a graph on graph paper !!!)
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One has to be careful when factoring quadratic trinomials into two binomials when there is a 
common factor.   In fact, the box method doesn't quite work the same if you do not factor out 
the greatest common factor first. 

Factor:     12x2   +   22x   +   6
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Hopefully you have already either written or pasted into your Algebra log,  the

Quadratic Formula.  Use it to solve the following quadratic equation.

3x2  -  2x  -  5   =  0

3x2  -  2x  -  5   =  0


